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Exponents/Logs achgl

‘Which of the following functions could have the
graph sketched here?

a) flo)=47~5
b) fl@)=4*+5
Q) flz)=4%+5
d) fl@)=47"-5
&) flz)=e%~5

‘Which of the following functions could have the
graph sketched here?

by flz) =2 +1
d) flz) =38"%

Find all value(s) for @ such that Inz — 1n§ =4.

a) 1 by 0 o) e d) & e)

32
Choose the expression equivalent to In (—_,x—)
.

In3+In2?
a) —————
In7+Iny
b) In(32%) + In(7y)
¢) m3—In7+2ne—Iny

) 21n(3z) — In(7y)

e) In (;) +In (2)7

Find an expression that is equivalent to
3% 4 3y

%

3V (3 23+
0 (G) -5 v
) 3(27) +8v d) 372751 4 3%)
) §(1+y)

‘Which of the following functions could have the
graph sketched here?

a) flz)=¢€ b) fl@) ="

o) fl@)=lnz d) f(e) =In(z—1)
€) fl@)=2+In(z-1)

Which of the following is equal to 10\8<+iozd?
a) 3z by 10% c) 310

dy =% B logg

Solve for : In(bz +1) —lnz =3

b) ——

&) —Hl+1) e L
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10.

Which of the following is the graph of
flg) =1+logga?
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